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Question Number : 22 Question Id : 6406531043059 Question Type : MCQ

Correct Marks : 0
Question Label : Multiple Choice Question

THIS IS QUESTION PAPER FOR THE SUBJECT "FOUNDATION LEVEL : SEMESTER I: ENGLISH I

(COMPUTER BASED EXAM)"

ARE YOU SURE YOU HAVE TO WRITE EXAM FOR THIS SUBJECT?
CROSS CHECK YOUR HALL TICKET TO CONFIRM THE SUBJECTS TO BE WRITTEN.

(IF IT IS NOT THE CORRECT SUBJECT, PLS CHECK THE SECTION AT THE TOP FOR THE SUBJECTS

REGISTERED BY YOU)
Options :

6406533522352, + YES
6406533522353. # NO
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

2
640653160672
No

Question Id : 6406531043060 Question Type : COMPREHENSION Sub Question Shuffling



Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (23 to 37)

Question Label : Comprehension

Read the following passage and answer the given subquestions:

The young man slumps against a lamp post.
A buzzing aura of insects around his face.

Some spiral down to their deaths, scorched by the heat of the lamp. Rasping, they fall on his chest,
arms and legs. He doesn't throw them off. Or make an attempt to move away. He lies, staring at
the makeshift shop in front of him.

The shop: a broken cot with a board nailed to it. Small, fat mangoes heaped in a corner. Bottles of
sticky boiled sweets sitting uncertainly on the edge. From a distance, they look filled with colour.
Like a palm fan, the old cot-shop woman'’s thin hand, laden with bangles, flaps this way and that,
trying to keep the flies away.

Peanuts heaped in a cone. He stares intently at them. A still mess of tiny worms, glistening in the
lamplight. He feels a mad desire. Brush that thin waving hand out of the way. Grab the peanuts
and run. But to do this, he must get up. He knows he cannot. His legs have gone to sleep. Heavy,
wooden.

He looks around him. Dead insects on both sides of his body. What if his body goes stiff forever?
He tries to swallow the thick gob of saliva pushing at the walls of his cheeks. It is an effort. In the
end, the saliva stays stuck to the roof of his mouth. He tightens his lips into a stitch.

A massive back cuts his line of vision and hides the cot-shop. He feels relieved, even thankful. He
closes his eyes.

His stomach, worn thin like a cotton rag, pulls into a spasm. His limbs feel like straw. He must find
something to eat. How long can this go on? But then, get up—and do what? Maybe he should
stretch out and go to sleep.

A hoarse, loud voice startles the evening, shattering its twilight calm. A song. From the film
showing in the theatre outside which he lies. The hairs on his forearms rise. His body jerks into
tremors. It's a while before it dies down, accepting the blare that hits it.

(From Current Show by Perumal Murugan, translated by V. Geetha)
Sub questions

Question Number : 23 Question Id : 6406531043061 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Based on the given passage, what does the word ‘buzzing’ imply?

Options :

6406533522354. + Sound that bees make when flying



6406533522355, # The sound of rain
6406533522356. # A very loud sound
6406533522357. # None of these

Question Number : 24 Question Id : 6406531043062 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

‘Makeshift’ in the given passage means?

Options :

6406533522358. # A hand-built shelter

6406533522359. ¥ A temporary arrangement

6406533522360. # A permanent arrangement

6406533522361. # None of these

Question Number : 25 Question Id : 6406531043063 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

In the passage, the word ‘stiff means ______

Options :

6406533522362. # Extremely flexible

6406533522363. # Soft and malleable

6406533522364. # Extremely pliable

6406533522365. ¢ Difficult to bend or move

Question Number : 26 Question Id : 6406531043064 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

The word ‘hoarse’in the given context means ____.

Options :

6406533522366. # A pleasing sound

6406533522367. # An inaudible sound

6406533522368. ¥ Rough sound

6406533522369. # A pleasant sound

Question Number : 27 Question Id : 6406531043065 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

‘Tremors’ here refersto ____.

Options :

6406533522370. # Brash movement



6406533522371. ¥ Slight, shaky movement
6406533522372. # Sudden movement
6406533522373. # None of these

Question Number : 28 Question Id : 6406531043066 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

The young man was startled by a song from the movie theatre.

Options:

6406533522374. ¥ True

6406533522375, # False

Question Number : 29 Question Id : 6406531043067 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

The young man is sleeping, satisfied, after a full meal.

Options:

6406533522376. # True

6406533522377. ¥ False

Question Number : 30 Question Id : 6406531043068 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Why did the young man want to run away with the peanuts?

Options:

6406533522378. # To sell them

6406533522379. # To plant them

6406533522380. + To satisfy his hunger

6406533522381. # All of these

Question Number : 31 Question Id : 6406531043069 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

What stopped the young man from running away with the peanuts?
Options:

6406533522382. # He did not want to steal from an old person
6406533522383. # He did not like peanuts

6406533522384, # There was police nearby

6406533522385. ¥ He was unable to get himself to move



Question Number : 32 Question Id : 6406531043070 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Fill in the blank with the correct answer:

His stomach, worn thin like a cotton rag, pulls into a spasm. His limbs feel like straw. He must find

Options :

6406533522386. # something to do
6406533522387. ¥ something to eat
6406533522388. # something to watch
6406533522389. # something to drink

Question Number : 33 Question Id : 6406531043071 Question Type : MCQ
Correct Marks : 2
Question Label : Multiple Choice Question

Match the items in List A to those in List B on the basis of your reading of the passage. Make
sure that your choices match the usages in the passage.

List A: Verbs List B: Prepositions

{1) SpiralThes a. Agamst

(2) Looks b. Into
(3) Slumps c.Up
{(4) Get d. Around

(3) Jerks/Pulls e Down

Spiral/Dies

Options :

6406533522390. # Against
6406533522391. # Into
6406533522392, # Up
6406533522393. # Around
6406533522394. ¢ Down

Question Number : 34 Question Id : 6406531043072 Question Type : MCQ
Correct Marks : 2
Question Label : Multiple Choice Question



Match the items in List A to those in List B on the basis of vour reading of the passage. Make
sure that your choices match the usages in the passage.

List A: Verbs List B: Prepositions

(1) SpiralDies a. Against

(2) Looks b. Into
(3) Slumps c.Up
(4) Get d. Around

{3) Jerks/Pulls e. Down

Looks

Options :

6406533522395, # Against
6406533522396. # Into
6406533522397. ¥ Up
6406533522398. ¥ Around
6406533522399. ¥ Down

Question Number : 35 Question Id : 6406531043073 Question Type : MCQ
Correct Marks : 2
Question Label : Multiple Choice Question

Match the ttems in List A to those in List B on the basis of your reading of the passage. Make
sure that your choices match the usages in the passage.

List A: Verbs List B: Prepositions

(1) SpiralDhes a. Against

{2) Looks b. Into
(3) Slumps c.Up
(4) Get d. Around

(5) Jerks/Pulls e Down

Slumps

Options :

6406533522400. ¥ Against
6406533522401. # Into
6406533522402. # Up
6406533522403. # Around
6406533522404, ¥ Down



Question Number : 36 Question Id : 6406531043074 Question Type : MCQ
Correct Marks : 2
Question Label : Multiple Choice Question

Match the items in List A to those in List B on the basis of vour reading of the passage. Make
sure that your choices match the usages in the passage.

List A: Verbs List B: Prepositions
(1) SpiralDies a. Against
(2) Looks b. Into
(3) Slumps c.Up
(4) Get d. Around
{3) Jerks/Pulls e. Down
Get
Options :
6406533522405. # Against
6406533522406. # Into
6406533522407. ¢ Up
6406533522408. # Around
6406533522409. ¥ Down

Question Number : 37 Question Id : 6406531043075 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Match the ttems in List A to those in List B on the basis of your reading of the passage. Make

sure that your choices match the usages in the passage.

Jerks/Pulls
Options :

List A: Verbs List B: Prepositions
(1) SpiralDhes a. Against

{2) Looks b. Into

(3) Slumps c.Up

(4) Get d. Around

(5) Jerks/Pulls e Down

6406533522410. # Against




6406533522411. ¢+ Into
6406533522412. * Up
6406533522413. * Around
6406533522414. * Down

Sub-Section Number : 3
Sub-Section Id : 640653160673
Question Shuffling Allowed : No

Question Id : 6406531043076 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (38 to 47)
Question Label : Comprehension
Read the following article and answer the given subquestions.

Indigenous People May Have Created the Amazon'’s ‘Dark Earth’ on Purpose

Indigenous people in the Amazon may have been deliberately creating fertile soil for farming for
thousands of years. At archaeological sites across the Amazon River basin, mysterious patches of
unusually fertile soil dot the landscape. Scientists have long debated the origin of this “dark earth,”
which is darker in color than surrounding soils and richer in carbon. Now, researchers have shown
that the indigenous Kuikuro people in southeastern Brazil intentionally create similar soil around
their villages. [Edit i] The finding, presented December 16 at the American Geophysical Union
meeting, adds evidence to the idea that the Amazonians deliberately manufactured such
soil long-ago. [Edit ii] In doing so, these early inhabitants may have inadvertently stored
massive quantities of carbon in the soil, says study presenter Taylor Perron, an earth
scientist at MIT. [Edit iii] The technique, he says, could provide a blueprint for developing
methods of sustainably locking atmospheric carbon in tropical soils, helping fight climate
change.

The Western world has long viewed the Amazon as a vast wilderness that was relatively untouched
before the Europeans showed up. At the center of this argument is the idea that the Amazon's soil,
which is poor in nutrients, precluded its inhabitants from developing agriculture at a scale
required to support complex societies. But a slew of archeological finds in recent decades —
including the discovery of ancient urban centers in Amazonian areas of modern-day Bolivia — has
revealed that people were actively shaping the Amazon for thousands of years before the arrival
of the Europeans. Perron and his colleagues reviewed interviews of the Kuikuro people conducted
by a Kuikuro filmmaker in 2018. Those conversations revealed that the Kuikuro villagers actively
make dark earth — eegepe in Kuikuro — using ash, food scraps and controlled burns. “When you
plant where there is no eegepe, the soil is weak,” explained the elder Kanu Kuikuro in one of the
interviews. “That is why we throw the ash, manioc peelings and manioc pulp.” [Edit iv] The team
found “striking similarities” between dark earth samples from ancient and modern sites,
says Perron. Both were far less acidic than surrounding soils — probably thanks to the
neutralizing effect of ash — and contained higher levels of plant-friendly nutrients.

These analyses also revealed that dark earth holds twice the amount of carbon as surrounding
soils on average. The technique highlights how the ancient people were able to thrive in the



Amazon by developing sustainable farming that doubled as a carbon-sequestration technique.
With more and more greenhouse gases entering the atmosphere, making dark earth — or
something like it — could be a method of mitigating climate change while supporting agriculture
in the tropics. “People in the ancient past figured out a way to store lots of carbon for hundreds or
even thousands of years,” Perron says. “Maybe we can learn something from that.” Adapted from:
Kreier, Freda. “Indigenous People May Have Created the Amazon’s ‘Dark Earth’ on Purpose.”
Science News, 05 Jan, 2023, https://www.sciencenews.org/article/indigenous-people-created-
amazon-dark-earth.

Sub questions

Question Number : 38 Question Id : 6406531043077 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Proofread the sentence marked in bold as [Edit i] to improve the article.

[Edit i] The finding, presented December 16 at the American Geophysical Union meeting, adds
evidence to the idea that the Amazonians deliberately manufactured such soil long-ago.

Options:
6406533522415. ¢ The finding, presented on December 16 at the American Geophysical Union

meeting, adds evidence to the idea that the Amazonians deliberately manufactured such soil long-
ago.

6406533522416. # The finding, presented in December 16 at the American Geophysical Union
meeting adds evidence to the idea that long-ago Amazonians deliberately manufactured such soil.

6406533522417. # The finding, presented at December 16 at the American Geophysical Union
meeting, adds evidence to the idea that long-ago, Amazonians deliberately manufactured such
soil.

6406533522418. # The finding, presented december 16 at the American Geophysical Union
meeting, adds evidence to the idea that Amazonians deliberately manufactured such soil long-
ago.

Question Number : 39 Question Id : 6406531043078 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Punctuate the sentence marked in bold as [Edit ii] correctly to improve the article.

[Edit ii] In doing so, these early inhabitants may have inadvertently stored massive quantities
of carbon in the soil, says study presenter Taylor Perron, an earth scientist at MIT.

Options :
6406533522419. # “In doing so, these early inhabitants may have inadvertently stored massive
quantities of carbon in the soil, says study presenter Taylor Perron, an earth scientist at mit.

6406533522420. ¢ “In doing so, these early inhabitants may have inadvertently stored massive
qguantities of carbon in the soil,” says study presenter Taylor Perron, an earth scientist at MIT.

6406533522421. # In doing so these early inhabitants may have inadvertently stored massive
quantities of carbon in the soil, says study presenter Taylor Perron an earth scientist at MIT.



6406533522422. # “In doing so these early inhabitants may have inadvertently stored massive
qguantities of carbon in the soil,” says study presenter Taylor Perron an earth scientist at MIT.

Question Number : 40 Question Id : 6406531043079 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Punctuate the sentence marked in bold as [Edit iii] correctly to improve the article.

[Edit iii] The technique, he says, could provide a blueprint for developing methods of
sustainably locking atmospheric carbon in tropical soils, helping fight climate change.

Options :
6406533522423. # “The technique, he says, could provide a blueprint for developing methods of
sustainably locking atmospheric carbon in tropical soils, helping fight climate change.”

6406533522424, # “The technique he says could provide a blueprint for developing methods of
sustainably locking atmospheric carbon in tropical soils, helping fight climate change.”

6406533522425. ¥ “The technique,” he says, “could provide a blueprint for developing methods of
sustainably locking atmospheric carbon in tropical soils, helping fight climate change.”

6406533522426. # “The technique,” he says could provide a blueprint for developing methods of
sustainably locking atmospheric carbon in tropical soils helping fight climate change.”

Question Number : 41 Question Id : 6406531043080 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Punctuate the sentence marked in bold as [Edit iv] correctly to improve the article.

[Edit iv] The team found “striking similarities” between dark earth samples from ancient and
modern sites, says Perron.

Options :
6406533522427. # “The team found striking similarities between dark earth samples from ancient
and modern sites” says Perron.

6406533522428. + “The team found ‘striking similarities’ between dark earth samples from
ancient and modern sites,” says Perron.

6406533522429. # The team found ‘striking similarities’ between dark earth samples from ancient
and modern sites, says Perron.

6406533522430. # “The team found “striking similarities” between dark earth samples from
ancient and modern sites,” says perron.

Question Number : 42 Question Id : 6406531043081 Question Type : MCQ

Correct Marks : 2

Question Label : Multiple Choice Question

Which of the following can be considered an example of technical vocabulary used in the article?
Options :

6406533522431. ¥ Carbon sequestration



6406533522432. # Slew
6406533522433, # Food scraps
6406533522434, # Mysterious patches

Question Number : 43 Question Id : 6406531043082 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

State true or false.

The below-given is an example of an effective concluding sentence that gives a suggestion without
making a prediction.

“People in the ancient past figured out a way to store lots of carbon for hundreds or even thousands of
years,” Perron says. “Maybe we can learn something from that.”

Options :
6406533522435, ¥ True
6406533522436. # False

Question Number : 44 Question Id : 6406531043083 Question Type : MCQ

Correct Marks : 2

Question Label : Multiple Choice Question

Which of the following does the article NOT attempt to do?

Options :

6406533522437. # It shows that scientific evidence can disprove some of Europe’s preconceived
notions about the Amazon.

6406533522438. # It shows that the Kuikoro people’s technique might be helpful in teaching us to
sustainably store atmospheric carbon in the soil.

6406533522439. ¥ It shows the importance of manioc peelings and manioc pulp in developing a
model of sustainable carbon sequestration for the future.

6406533522440. # It shows that the ancient people of the Amazon may have had their own
techniques of sustainable farming in a soil that was not rich in nutrients.

Question Number : 45 Question Id : 6406531043084 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

State true or false.

A working knowledge of the Kuikuro language is a prerequisite to understand this article.
Options :

6406533522441, # True

6406533522442, ¥ False

Question Number : 46 Question Id : 6406531043085 Question Type : MCQ



Correct Marks : 2
Question Label : Multiple Choice Question

“When you plant where there is no eegepe, the soil is weak,” explained the elder Kanu Kuikuro in one of
the interviews. “That is why we throw the ash, manioc peelings and manioc pulp.”

Study the quote given above. The article uses this quoteto ____ .

Options:

6406533522443, ¥ Emphasise the feelings of the Kuikuro people
6406533522444, + Reveal that the Kuikuro villagers actively make “dark earth”
6406533522445, # Allow room for disagreement

6406533522446. * To mitigate climate change

Question Number : 47 Question Id : 6406531043086 Question Type : MCQ
Correct Marks : 2
Question Label : Multiple Choice Question

With more and more greenhouse gases entering the atmosphere, making dark earth — or something
like it — could be a method of mitigating climate change while supporting agriculture in the tropics.

In the above-given sentence, the relevance of the modal verb is that
Options :

6406533522447. * It shows that the source of the article is not credible
6406533522448. # It is a unifying strategy for the article
6406533522449, # [t offers comparison and contrast

6406533522450. + It allows room for disagreeing with the idea

Sub-Section Number : 4
Sub-Section Id : 640653160674
Question Shuffling Allowed : No

Question Id : 6406531043087 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (48 to 52)
Question Label : Comprehension
Read the passage and answer the given subquestions.

People came to him when the patient ___ (1)____ (is) on his last legs. Dr. Raman often burst out,
‘Why couldn’t you have come a day earlier? The reason was obvious—___ (2)____ (visit) fee
twenty-five rupees, and more than that, people liked to shirk the fact that the time had come to
call in Dr. Raman; for them there was something ominous in the very association. As a result,
when the bigman _____ (3)___ (come) on the scene, it was always a quick decision one way or
another. There was no scope or time for any kind of wavering or whitewashing. Long years of
practice of thiskind had ____ (4)___ (breed) in the doctor a certain curt truthfulness; for that very
reason his opinion was valued; he was not a mere doctor ____ (5)____ (express) an opinion but a
judge pronouncing a verdict. The patient’s life hung on his words. This never worried Dr. Raman.



He never believed that agreeable words ever saved lives.
Sub questions

Question Number : 48 Question Id : 6406531043088 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Choose the correct option for blank (1).

Options :

6406533522451, # Is

6406533522452, ¥ Was

6406533522453, # Were

6406533522454, # Are

Question Number : 49 Question Id : 6406531043089 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Choose the correct option for blank (2).

Options :

6406533522455, ¢ Visiting

6406533522456. # Visited

6406533522457, # Visits

6406533522458, # Visit

Question Number : 50 Question Id : 6406531043090 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Choose the correct option for blank (3).

Options :

6406533522459. ¥ Come

6406533522460. # Comes

6406533522461. ¥ Came

6406533522462. ¥ Coming

Question Number : 51 Question Id : 6406531043091 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Choose the correct option for blank (4).

Options :

6406533522463. ¥ Bred

6406533522464, # Breeds



6406533522465. # Breeding
6406533522466. # Breed

Question Number : 52 Question Id : 6406531043092 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Choose the correct option for blank (5).

Options :

6406533522467. # Express

6406533522468. # Expressed

6406533522469. ¥ Expressing

6406533522470. # Had expressed

Question Id : 6406531043093 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (53 to 57)
Question Label : Comprehension

Match the words in List A with those in List B that are similar in meaning to them.

List A List B

(1) Plume (a) Portal
(11) Bag (b) Armoire
(111) Door (c) Feather

{1v) Cupboard | (d) Tunber

{(v) Log {e) Satchel

Based on the above data answer the given subquestions.
Sub questions

Question Number : 53 Question Id : 6406531043094 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Plume

Options :

6406533522471. # Portal

6406533522472, ¥ Armoire

6406533522473. ¥ Feather

6406533522474, # Timber

6406533522475. # Satchel



Question Number : 54 Question Id : 6406531043095 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Bag

Options :

6406533522476. # Portal

6406533522477. ¥ Armoire

6406533522478. # Feather

6406533522479. # Timber

6406533522480. ¢ Satchel

Question Number : 55 Question Id : 6406531043096 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Door

Options:

6406533522481. ¢ Portal

6406533522482, ¥ Armoire

6406533522483. # Feather

6406533522484, # Timber

6406533522485. # Satchel

Question Number : 56 Question Id : 6406531043097 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Cupboard

Options :

6406533522486. # Portal

6406533522487. ¥ Armoire

6406533522488. # Feather

6406533522489. # Timber

6406533522490. # Satchel

Question Number : 57 Question Id : 6406531043098 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Log

Options:

6406533522491. # Portal



6406533522492. * Armoire
6406533522493. # Feather
6406533522494, " Timber
6406533522495, # Satchel

Question Id : 6406531043099 Question Type : COMPREHENSION Sub Question Shuffling
Allowed : No Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (58 to 62)
Question Label : Comprehension
Complete the telephonic conversation given below with most polite and correct responses.

Receptionist: Good afternoon, Verma Enterprises. (i)

Caller: Hello, this is Usha Patel from Vision Tech. Can I speak with Raghu Nath in IT?
Receptionist: Sure, ma’am. What's the purpose of your call?
Caller: I need to discuss the new software integration.

Receptionist: (ii)

Raghu: Hi, this is Raghu Nath in IT. How can I help?

Caller: Hello, Raghu. This is Usha from Vision Tech. I want to go over the new software integration
details.

Raghu: Sure, we plan to start next Monday and finish in two weeks. Does that work?
Caller: Yes, will there be any downtime?
Raghu: About an hour during setup, scheduled off-peak.

Caller: Great. (iii)

Raghu: T'll email it by the end of the day.

Caller: (iv) Looking forward to working with you.

Raghu: No problem, Usha. Reach out if you need anything.
Caller: Will do. Thanks. Bye.

Raghu: (v)

Based on the above data answer the given subquestions.
Sub questions



Question Number : 58 Question Id : 6406531043100 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Which among the following is an appropriate response for blank (i)?
Options :

6406533522496. # What's your problem?

6406533522497. ¢ How can I help you?

6406533522498. # What do you expect me to do?

6406533522499, # What's the matter with you?

Question Number : 59 Question Id : 6406531043101 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Which among the following is an appropriate response for blank (ii)?
Options :

6406533522500. ¥ Please hold while I transfer your call

6406533522501. # Stay on hold for a moment, and don’t speak
6406533522502, # Keep quiet!

6406533522503. # Be on hold, buddy!

Question Number : 60 Question Id : 6406531043102 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Which among the following is an appropriate response for blank (iii)?
Options :

6406533522504. # [ want to meet the manager

6406533522505. # Send the schedule if you want!

6406533522506. # Can we plan the meeting for this week?

6406533522507. + Can you send a detailed schedule?

Question Number : 61 Question Id : 6406531043103 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Which among the following is an appropriate response for blank (iv)?
Options :

6406533522508. # I am not working on the project, Raghu

6406533522509. # How can I help you, Raghu?

6406533522510. ¥ Thanks, Raghu

6406533522511. # I will not be attending the meeting, Raghu



Question Number : 62 Question Id : 6406531043104 Question Type : MCQ
Correct Marks : 2

Question Label : Multiple Choice Question

Which among the following is an appropriate response for blank (v)?
Options :

6406533522512. # I am on a conference call

6406533522513. " Bye, Usha

6406533522514, # T will be speaking with the manager

6406533522515, # I will handle the project, Usha

Sub-Section Number : 5
Sub-Section Id : 640653160675
Question Shuffling Allowed : Yes

Question Number : 63 Question Id : 6406531043105 Question Type : MCQ
Correct Marks : 1

Question Label : Multiple Choice Question

Choose the correct sentence that demonstrates proper subject verb agreement
Options:

6406533522516. # Both the book and the pen is on the table.

6406533522517. ¥ Both the book and the pen are on the table.
6406533522518. # Both the book and the pen be on the table.
6406533522519. # Both the book and the pen am on the table.

Question Number : 64 Question Id : 6406531043106 Question Type : MCQ
Correct Marks : 1

Question Label : Multiple Choice Question

Choose the sentence with the correct preposition.

Options :

6406533522520. # She is allergic of cats.

6406533522521. # She is allergic with cats.

6406533522522, ¢ She is allergic to cats.

6406533522523, # She is allergic by cats.

Question Number : 65 Question Id : 6406531043107 Question Type : MCQ
Correct Marks : 1

Question Label : Multiple Choice Question

Identify the incorrect sentence among the two based on the usage of the verb:
Options:

6406533522524, # I know the answer.

6406533522525, ¥ I am knowing the answer.



Question Number : 66 Question Id : 6406531043108 Question Type : MCQ
Correct Marks : 1

Question Label : Multiple Choice Question

The consonant cluster in the word flip is an instance of

Options :

6406533522526. # Initial CC

6406533522527, # Final CC

6406533522528. # Initial CCC

6406533522529. # Final CCC

Question Number : 67 Question Id : 6406531043109 Question Type : MCQ
Correct Marks : 1

Question Label : Multiple Choice Question

The compound word ice-cold is stressed on the

Options :

6406533522530. # First syllable

6406533522531, # Second syllable

6406533522532, # No stress

Question Number : 68 Question Id : 6406531043110 Question Type : MCQ
Correct Marks : 1

Question Label : Multiple Choice Question

The word ‘entrepreneur’has _____ syllables.

Options :

6406533522533, # 2

6406533522534, # 3

6406533522535, ¥ 4

Question Number : 69 Question Id : 6406531043111 Question Type : MCQ
Correct Marks : 1

Question Label : Multiple Choice Question

Choose the correct option.

She has___ too hard today.
Options :

6406533522536. # Works
6406533522537. + Been working
6406533522538. # Working



Question Number : 70 Question Id : 6406531043112 Question Type : MCQ
Correct Marks : 1

Question Label : Multiple Choice Question

Choose the future perfect continuous tense sentence from the following options:
Options :

6406533522539. #* You will win the exam

6406533522540. * Your mother will love you forever

6406533522541, ¥ She will have been learning to drive a car for three hours
6406533522542, # Will she do it again?

Question Number : 71 Question Id : 6406531043113 Question Type : MCQ
Correct Marks : 1

Question Label : Multiple Choice Question

Thousand rupees the fine for that traffic violation.

Options:

6406533522543, ¢ Is

6406533522544, % Will

6406533522545, # Were

6406533522546. # Are

Question Number : 72 Question Id : 6406531043114 Question Type : MCQ
Correct Marks : 1

Question Label : Multiple Choice Question

Fill in the blank with the most suitable phrasal verb.

The culprit, overwhelmed by quilt, ____in front of the jury.
Options :

6406533522547. ¥ Broke down

6406533522548. # Broke apart

6406533522549, * Broke up

6406533522550. # Broke out

Question Number : 73 Question Id : 6406531043115 Question Type : MCQ
Correct Marks : 1

Question Label : Multiple Choice Question

Fill in the blank with the most suitable modal verb.

Your prospective employer file a petition on your behalf with USCIS for you to come to the
USA as a temporary nonimmigrant worker.
Hint: To denote a binding obligation imposed by the government.

Options:



6406533522551. # Can

6406533522552, ¥ Must
6406533522553, # Might
6406533522554. # Could

Question Number : 74 Question Id : 6406531043116 Question Type : MCQ

Correct Marks : 1

Question Label : Multiple Choice Question

Fill in the blank with the most appropriate phrase/idiom corresponding to the meaning provided.

He disliked having to confront his father, but he knew that he would just have to .
Intended meaning: To force yourself to do something difficult or unpleasant and face the
consequences, or to be brave in a difficult situation.

Options:

6406533522555. # Beat a dead horse
6406533522556. # Miss the boat
6406533522557. + Bite the bullet
6406533522558. # Zip his lip

Question Number : 75 Question Id : 6406531043117 Question Type : MCQ
Correct Marks : 1

Question Label : Multiple Choice Question

Which word is both a noun and a verb?

Options :

6406533522559. # Happy

6406533522560. # Quickly

6406533522561. ¢ Plant

6406533522562. # Beautiful

Question Number : 76 Question Id : 6406531043118 Question Type : MCQ
Correct Marks : 1
Question Label : Multiple Choice Question

"Whose book is this?"
What type of pronoun is 'whose'?

Options:

6406533522563. # Personal
6406533522564, ¥ Possessive
6406533522565. + Interrogative
6406533522566. # Relative



Question Number : 77 Question Id : 6406531043119 Question Type : MCQ
Correct Marks : 1

Question Label : Multiple Choice Question

Identify the adverb of manner:

Options :

6406533522567. # Here

6406533522568. ¥ Now

6406533522569. ¥ Quickly

6406533522570. # Very

Question Number : 78 Question Id : 6406531043120 Question Type : MCQ
Correct Marks : 1

Question Label : Multiple Choice Question

Which sentence uses an adjective in the comparative degree?

Options:

6406533522571. # This is a good book.

6406533522572, # That was the best movie ever.

6406533522573. ¥ She's smarter than her brother.

6406533522574, # He's very tall.

Question Number : 79 Question Id : 6406531043121 Question Type : MCQ
Correct Marks : 1

Question Label : Multiple Choice Question

"an hour"

Why is 'an' used instead of 'a'?

Options :

6406533522575. # "Hour" begins with a vowel letter

6406533522576. ¢ "Hour" begins with a vowel sound

6406533522577. # It's an exception to the rule

6406533522578. # Both "Hour" begins with a vowel letter and "Hour" begins with a vowel sound

Question Number : 80 Question Id : 6406531043122 Question Type : MCQ
Correct Marks : 1

Question Label : Multiple Choice Question

Which /p/ sound in the word people is aspirated?

Options :

6406533522579. ¥ /p/ in the first syllable

6406533522580. # /p/ in the second syllable

6406533522581. # Both /p/ sounds are aspirated

6406533522582. # No /p/ sounds are aspirated



Question Number : 81 Question Id : 6406531043123 Question Type : MCQ

Correct Marks : 1
Question Label : Multiple Choice Question

Consider the sentence Jane was a rebel when she was young. The word rebel in this sentence is

stressed as
Options :

6406533522583, v Rebel

6406533522584, % Rebel

Question Number : 82 Question Id : 6406531043124 Question Type : MCQ

Correct Marks : 1
Question Label : Multiple Choice Question

Which semi-vowel occurs in the transition between the words “she” and “actually” in the sentence

“I can'’t believe she actually remembered’?
Options :

6406533522585. # /w/
6406533522586. ¥ /y/
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